Chapter 11: Waves
College Physics

Chapter 11

Waves

Problems


1.
Form a proportion with the intensities treating the Sun as an isotropic source.
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9.
The weight of the string divided by the load is 
[image: image2.wmf]4

3

0.25 N

2.5100.025%.

1.0010 N

-

=´=

´

 The weight of the string is negligible since the result will be limited to two significant figures (by 0.25 N).
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17.

[image: image4.wmf]cm

(,)(3.5 cm)sin66 sin(),

3.0 cms

yxtxtAkxt

p

w

éù

æö

=-=-

ç÷

êú

èø

ëû

 so we have 



(a)
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33.
The pulse moves 1.80 m ( 1.50 m = 0.30 m in 0.20 s. So, the speed of the wave is 
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 When the pulse reaches the right endpoint, it is reflected and inverted. When exactly half of the pulse has been reflected and inverted, the superposition of the incident and reflected waves results in the cancellation of the waves 
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 Thus, the string looks flat at 
[image: image9.wmf]m

s

4.0 m1.5 m

1.7 s.

1.5 

x

t

v

-

===



45.
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61.
Set the stress equal to the strength.
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